= A
N = 0l & At & M A
016 £ 15 L3N AAS ~ XA
SN Yag
HE: QNS HOKNX WESND 25
Sl UMD BHAHA 23 (29l & 2)
SN EH - (EH) - HRAY - BES 0] &k o4 p/E-T Hl D2
LS 565,670 521,450 44,220
YAZ FHXX HWERID 2= 484,430 440,210 44,220
LA S HFAMHA HE 484,430 440,210 44,220
FOIEO MEEHH A 94,020 79,800 14,220
101 @14l 57,200 47,200 10,000
04 DIt 22 XS+ 57,200 47,200 10,000
O Jtzstd Ex=HMAH 22 2,500,000 x43] 10,000 0 10,000
301 LEE N F 4,220 0 4,220
01 Al 28X =0dl= 4,220 0 4,220
O==MIIE Y= SIAAMY 4,220 0 4,220
THotolly =el=3 oz 200,000 170,000 30,000
401 AIEHI L 2CHEI 195,000 165,000 30,000
01 A& HI 193,164 163,488 29,676
O gaXlz s2Hd EAt 10,000,000%98.92% 9,892 0 9,892
O YAXT W42 It JA
10,000, 000%98.92% 9,892 0 9,892
O S&XF s22= A 10,000,000%98.92% 9,892 0 9,892
03 A2 2 THHI 1,836 1,512 324
OMaHO Y FoI%8 o2
170,000,000& *1.08% 1,836 1,512 324
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>
A & 0l & AF 2 E A A
2016H S = 1 8l WS UAS ~ XA
SR
My H20 HOXX UWESAT 25
ool HSP BIMHIA 2t (B9 ®R)
2N -3 -2 (SH) - NHEMY - BES Oif &4 I E M Husz
yso 280,727 249,547 31,180
HS0 HOXI UEST 75 227,407 196,227 31,180
HSO BIMHA 2 227,407 196,227 31,180
Zolme MEHF HA 10,480 9,300 1,180
301 LEHE A 1,180 0 1,180
IEEEEEYE 1,180 0 1,180
O42WINT 22 YA 1,180 0 1,180
THOHO FRI® of 2 130,000 100,000 30,000
401 AIEHI L 2 THBI 125,000 95,000 30,000
01 Al& I 123,812 94,136 29,676
OHS0 W22 HUIZA  15,000,000+98.92% 14,838 0 14,838
OS®el M& HUIZA  15,000,000+98.92% 14,838 0 14,838
03 Al = Chl 1,188 864 324
OMBHOIS Z0I%2 At 110,000,000 *1.08% 1,188 864 324
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>
A & 0l & AF 2 E A A
20169 = =3 1 3] LESH AE ~ AAMH
2N 28
dM: 2¢H F0HAUX WERKZT *=
Helr 2498 dIAMHA 23 (Sl & &)
SN EH - (EH) - HRAY - BES 0] &k o4 p/E-E" Hl D2
2 439,086 369,886 69,200
22H FOHAX WEHID = 379,038 309,838 69,200
M I ML 25 379,038 309,838 69,200
Fo O MEsH M 68,154 58,954 9,200
201 Let24E] 16,000 12,000 4,000
01 At 22l 16,000 12,000 4,000
O=2Zs 223 4Htg 8A 28 =
13,000,000 * 14! 13,000 12,000 1,000
O2gd s 435 22 3,000 0 3,000
301 LAz 1,800 600 1,200
01 MI28E +06l= 1,200 0 1,200
Ox=2XItE &2 gAAY 1,200 0 1,200
401 Al HIZ 201 Y] 13,000 14,000 A1,000
01 A& HI 13,000 14,000 A 1,000
OSNS BZS LHIE BAY =4
9,000,000& =14l 9,000 10,000 21,000
405 XHoHF S HI 5,000 0 5,000
01 AL EZFH S 5,000 0 5,000
OFQUXX Lefws U7 5,000 0 5,000
THoH Ol & ==0l=J of& 129,000 99,000 30,000
401 Al HIZ 201 8] 125,000 95,000 30,000
01 A& HI 123,812 94,136 29,676
O JI0tS =2 ZEHl 9,583,000& *96% 9,200 17,806 A 8,606
O otgel sz22F 8,872,000 «97% 8,606 0 8,606
O 3@del s22% 10,000, 000& *98.92% 9,892 0 9,892
O &dAel s22F 10,000, 000& *98.92% 9,892 0 9,892
O el s22F 10,000,000 *98.92% 9,892 0 9,892
03 Al S THHI 1,188 864 324
O MoHolle F=e=sJAMP =8
110,000,000 *1.08% 1,188 864 324
A23=E 24 57,750 27,750 30,000
101 124l 3,600 6,000 A 2,400
04 JI2ZtHZ22HEE = 3,600 6,000 A 2,400
OXNEIZ2X UAHI(LANATHELH) 3,600 6,000 A2,400
307 glz2tol & 2,400 0 2,400
05 RIZtRIEt = 2,400 0 2,400
OXNS2==E HE22 MY UL/ 2,400 0 2,400
401 A& HIZ 201 8] 30,000 0 30,000
01 A& HI 30,000 0 30,000
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N & 0l & AF S & M M
016 £ 13 YEH YUS ~ KA
2N AE
B AEO BOXK WEAT 75
SRl ATE HIAMHA 23 CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
E-d 343,569 254,709 83,860
NBO BOXIX WEND 2E 289,449 200,589 88,860
MO BEAHIA 28 289,449 200,589 88,860
HHAHA B2 83,840 57,290 31,550
401 AIEHI L 201 bI 30,000 0 30,000
01 A&yl 30,000 0 30,000
OOHI2 MBS MR ST
30,000, 000% 14! 30,000 0 30,000
405 Thab3 St 1,550 0 1,550
IR EEEE 1,550 0 1,550
ONBHAMRA HHD 7Y 800,0002 «1CH 800 0 800
ONTOIARA THHI| 22 750,000% «1CH 750 0 750
Fome 4B N 21,740 2,499 9,241
101 Q1248 9,650 8,299 1,351
YPENEEVEEES 9,650 8,299 1,351
OBLZY XY
(48,2402 *15% #63] )+(48, 2402 28 ) 5,693 4,342 1,351
201 Lyt HH| 6,750 0 6,750
01 AbR 22l 6,750 0 6,750
OBLEH ZHIAX 2,750,000+ 14! 2,750 0 2,750
OFQUTZ HE A&7 4,000 0 4,000
301 YBH A 2,340 1,200 1,140
01 MBI 2= 253 1,140 0 1,140
O+BTINE L2 YAAY 1,140 0 1,140
THoH ol FoI=e o 129,000 99,000 30,000
401 AIEHI L 201 b 125,000 95,000 30,000
01 Al bl 123,812 94,136 29,676
OUY SLZHUIAY 15,000,000+98.92% 14,838 0 14,838
OUN S2RETM 15,000,000+98.92% 14,838 0 14,838
03 A& S THHI 1,188 864 324
OUY SL2HUIAY 15,000,000+ 08% 162 0 162
0N S2RETM 15,000,000+1. 08% 162 0 162
Hessg 29 18,069 0 18,069
101 Q1248 4,160 0 4,160
04 JIAHIERSE S 4,160 0 4,160
oxe=ssg el 2=y
1,040, 00021 +4% * 12 4,160 0 4,160
201 YBt2 | 1,509 0 11,509
01 AbR22lH] 2,400 0 2,400




2N AE
B AEO BOXK WEAT 75

SRl ATE HIAMHA 23 SREED

SA - BAEH) - NRAY - LS 2

O==g wazel 600,000 »42 2,400 0 2,400

02 232 9,109 0 9,109

omJIe 1,400, 0002 x4 % 5,600 0 5,600

0+523 800,000%! *4% 3,200 0 3,200

ORdes ABE 12,1002 x4% 49 0 49

O”4Il ABE 45,0002 x4 2 180 0 180

OmMse2 20,0002 4% 80 0 80

307 212+01 & 2,400 2,400

REEEE 2,400 2,400

ONE22X A3 300,000 *42 28 2,400 2,400
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==
N & o & AF & H A A
2016H S = 1 8l WS UAS ~ XA
S S0
M Moo HOXX UWESAT 25
Sol: g0 BIHMEIA 25 EERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
M40 316,599 267,379 49,220
M40 HOXZ UEAT 25 263,279 214,059 49,220
Moo HEMUA 23 263,279 214,059 49,220
Zolme MEHF HA 34,058 28,688 5,370
101 124 Hl 22,738 18,348 4,390
M4IRH2RISES 22,738 8,348 4,390
O440 BEANL 2l 15,238 10,848 4,390
-Jl=3 11,626 7,236 4,390
301 YBHE A 2,180 1,200 980
IEEEEEYE! 980 0 980
O#STIHY 2o L2AY 980 0 980
ool FoISA of 129,000 99,000 30,000
401 Al EHI L 2O 125,000 95,000 30,000
01 Al 123,813 94,137 29,676
OB& 52 2 W42 Il
10,000,000 *98.92% 9,892 0 9,892
OY%gots AHATH 5,000, 0002 *98.92% 4,946 0 4,946
O3S H+2 N4 15,000,000 *98.92% 14,838 0 14,838
03 Al& = T 1,187 863 324
OMHOY FoI=2 o2 1,187 863 324
H40 MEHSTY 2ol 2Y 13,850 0 13,850
201 L2yl 350 0 350
02 222 Y| 350 0 350
OFIIR2 50,0008 * 742 350 350
401 Al EHI L 20 HI 13,500 0 13,500
01 Al& I 13,500 0 13,500
OEXA &3 3,500 0 3,500
OHIE 22 &1 &7 10,000 0 10,000
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N & 0l & AF S & M M
20169 = =3 1 3] LESH AE ~ AAMH
2N Qa0
M 0 FHAUX WERD 2=
SRl @48 BIMHIA 25t EERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
s 454,151 413,001 41,150
eH FHIX UWERKID 2= 373,981 338,881 35,100
0 HIMHA 235 373,981 338,881 35,100
HEAMHIA 2229 137,217 135,217 2,000
201 Let24E] 136,717 134,717 2,000
01 AFR2telHl 27,856 26,856 1,000
OHEIES3d a7 (1bHE SEXFNES) 1,000 0 1,000
02 =524l 108,861 107,861 1,000
OMEHIIE Hel =8 1,000 0 1,000
FOE MESHH A 26,764 23,664 3,100
301 et d = 4,900 1,800 3,100
01 MEIBEZE 05z 3,100 0 3,100
O=3NItd &= LIAAY 3,100 0 3,100
THoH ol g =0l==& o Z 180,000 150,000 30,000
401 A& HIZ 201 8] 170,000 140,000 30,000
01 A& HI 168,380 138,704 29,676
O+ SHMES sZTEH M
10,000,000 *98.92% 9,892 0 9,892
O2s =H0tS =2 FHSAM
10,000,000 *98.92% 9,892 0 9,892
O+ HE MZ =2 HUISA
10,000,000 *98.92% 9,892 0 9,892
03 Al S THHI 1,620 1,296 324
OTHaHOoll & =RI=J ALY 150,000,000% *1.08% 1,620 1,296 324
HYR2IZH (D) 80,170 74,120 6,050
=3l 80,170 74,120 6,050
=0 Jl=2Z 80,170 74,120 6,050
405 XtatE S HI 7,750 1,700 6,050
01 AL ESH SHI 7,750 1,700 6,050
O&Hg 300 0 300
OItel& 150,000 *5JH4 750 0 750
O XH(erEerg) 200,000 =104 2,000 0 2,000
OAINUAAUIIE) 3,000,000& 14! 3,000 0 3,000
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N = 0l & At & M A

S Mo

M Moo HOKX WEHD 75

CHol: AlE BIAHIA ZE (SHol: @)
2A-F3H-H2A(3) - MY - BES Ofl & oH I & Hn&s2Z

et 282,910 236,450 46,460
M BOITE UERD 25 228,590 182,130 46,460
Mo #EAH A 23 228,590 182, 130 46,460
ZOIEO MEHF M 19,460 3,000 16,460
301 LB A 1,460 0 1,460
N EEEEPYE! 1,460 0 1,460
O%=2XINE B2 wrofAre 1,460 0 1,460
405 X+t 3 S| 5,000 0 15,000
01 AU S Z 5 S| 5,000 0 15,000
OFURXIME SZ(LEH) 2| 10,000 0 10,000
OZOITZ Leina =H72e 5,000 0 5,000
Aol Fols 130,000 100,000 30,000
401 AlEHIZ 20 Hl 125,000 95,000 30,000
01 Al&HI 123,812 94,136 29,676
OX¥ S2E& 10,000,000 *98.92% 9,892 0 9,892
092t S2EE 10,000,000 *98.92% 9,892 0 9,892
OATD THaHOIEAFR! 10,000,0002 *98.92% 9,892 0 9,892
03 Al& 2T 1,188 864 324
OZ0I=2 At 324 0 324
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>
N & 0l & AF S & M M
20169 = =3 1 3] LESH AE ~ AAMH
AN HAHH
M MY EHAX WEHIT ==
SRl AHE BIAMHIA 25t EERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
SAHH 291,753 260,773 30,980
AN FHIX UWERKIA 2= 235,353 204,373 30,980
AHE HEMHA 23S 235,353 204,373 30,980
FOIEO MEEHH A 11,680 10,700 980
301 et A= 2,180 1,200 980
01 Al 2&H =63 980 0 980
Ox==SXItE &2 HAAY 980 0 980
THoH ol =ol==& oiZ 130,000 100,000 30,000
401 AIEHI L 2] 125,000 95,000 30,000
01 A& HI 123,812 94,136 29,676
OHsOtE =2 FHl SAt
15,000, 000& x98.92% 14,838 0 14,838
OF20tE =2 2= SA
15,000, 000& x98.92% 14,838 0 14,838
03 A2 2 0HHI 1,188 864 324
OTHoHOIe =0l=g& At 30,000,000 *1.08% 324 0 324
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= >
N = 0 &8 AH Y H N AN
20169 & =& 1 3 LU Ldags ~ XAH
SN BEH
M 2EM HONX UERAT 7S
CHol: BED BHAHIA 23 (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H H &2
2EY 455,443 416,563 38,880
ZEH HHUX WERYT 2= 387,283 348,403 38,880
2EH HFH MU A 25 387,283 348,403 38,880
=olmol MEsr i M 46,680 37,800 8,880
301 LB A2 1,880 0 1,880
01 AlBIE &N 5 2 1,880 0 1,880
Ox=ZXIE L2 LAAY 1,880 0 1,880
401 AlZHIZ 2 32,000 25,000 7,000
01 Al&HI 32,000 25,000 7,000
OUWsNS SBAlE A2 A 7,000 0 7,000
THaH ol =02 155,000 125,000 30,000
401 AlEHIZ =20 150,000 120,000 30,000
01 Al&HI 148,596 118,920 29,676
Qe =22 =Y 19,784 0 19,784
OLxl2 =22 =y 4,946 0 4,946
OZ=2 22 Hul 4,946 0 4,946
03 Al 2 H Y 1,404 1,080 324
Ol =gl 5 324 0 324
23598 2ol 46,000 46,000 0
401 AlEHIZ 20 10,000 10,000 0
01 Al&HI 10,000 10,000 0
O=239 & B2y ¢ 10,000,000 * 14! 10,000 10,000 0
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—
H = 0 & AF & & A
ZA 13 LurE YAS ~ XA
z o
o BOIXZ WEYD 7=
o MEAMNEA 23 S E)
SN -H2A () - MEAY - BES O] Ak
343,982 310, 162 33,820
X WEXD 2= 286,122 252,302 33,820
o MEANHIA 23 286,122 252,302 33,820
DiEol MEsA e 16,920 15,500 1,420
301 LA 1,420 0 1,420
01 NI ER=A52 1,420 0 1,420
O%xSRINE g2 SAAY 1,420 0 1,420
Moo F=oise o 129,000 99,000 30,000
401 AlEHIZL 2 THHI 125,000 95,000 30,000
01 Al&H] 123,812 94,136 29,676
O224 MalASHAAL
10,000, 0002 *98 . 92% 9.892 0 9,892
OLXP THaHOEY T2 ALY
20,000, 0002 98 . 92% 19,784 0 19,784
03 Al& =2 THHl 1,188 864 324
O224 MaAlASHAAL
10,000,0002 *1.08% 108 0 108
OLXP THaHOEY Fo=| ALY
20,000,0002 *1.08% 216 0 216
==y 29 51,900 49,500 2,400
101 @124l 20,800 20,800 0
04 JIAH2E2NER 2 20,800 20,800 0
O22 X oA 20,800,0002 * 12 » 114 20,800 20,800 0
307 2I2+0| & 2,400 0 2,400
05 D12t et 2 2,400 0 2,400
OXNS22E NHI2ZAY DA
600,000 *43] 2,400 0 2,400
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N & 0l & AF S & M M
20169 = =3 1 3] LESH AE ~ AAMH
fAM: EXH
M dxH HFHAX WEHIT ==
Helr X1 dFHANH A 23 (Sl & &)
SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
gXe 281,638 250,258 31,380
SX¢ FHUX WERID *= 226,818 195,438 31,380
SXH dEAMHA 235 226,818 195,438 31,380
FOIEO MEEHH A 7,380 6,000 1,380
301 et A= 1,380 0 1,380
01 Al 2&H =63 1,380 0 1,380
Ox=sIIE & dIAMY 1,380 0 1,380
THotollgt =2l=3 of & 129,000 99,000 30,000
401 AIEHI L 2] 125,000 95,000 30,000
01 A& HI 123,812 94,136 29,676
OHXl F40ts ==
10,000, 000%98.92% 9,892 0 9,892
OHYXl X&0E s2Z & 10,000,000%98.92% 9,892 0 9,892
O8xl £=cl th==2 ZHl 10,000,000%98.92% 9,892 0 9,892
03 Al S THHI 1,188 864 324
OMofiolg =el=gdiz 30,000,000%1.08% 324 0 324
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>
N = 0l & At & M A
20169 = =3 1 3] LESH AE ~ AAMH
M XAH
M AAME HFOHUX WERD 2=
Sl AAe dHANH A 235 (Sl & &)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
KA 335,755 294,695 41,060
KA EHXX WERID *= 282,435 241,375 41,060
KAH HAEMHIA 25t 282,435 241,375 41,060
FOIEO MEEHH A 21,060 10,000 11,060
301 2ELE A= 3,460 2,400 1,060
01 Al 2&H =63 1,060 0 1,060
Ox=sIIE & dIAMY 1,060 0 1,060
401 AIEHIZ 2 Y 10,000 0 10,000
01 A& HI 10,000 0 10,000
OXAMN E2H F& ZHAEY 10,000 0 10,000
THotolly =el=3 oz 129,000 99,000 30,000
401 AIEHIZ 2 I 125,000 95,000 30,000
01 A& HI 123,812 94,136 29,676
OSE Eti+=2 FHIAMY
18,000,000 *98.92% 17,806 0 17,806
OSN 52 2F 11,999, 000& x98.92% 11,870 0 11,870
03 Al& £ CHHI 1,188 864 324
OTHaHOlI & =RI=J ALY 29,999,000 *1.08% 324 0 324
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